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A: (0, 0, 2a) B: (2a, 0, 0) rAB = (2a, 0, -2a) eAB = (1,0, 1)

2
−  

 

C: (0, 0, a) D: (0, a, 0) rCD = (0, a, -a)  eCD = (0,1, 1)
2
−  

 
F1 = 2F eAB = 2(1,0, 1)F−  rPA = (-a, -2a, 2a) OBS Ändrade tecken 
 

F2 = F eCD = 1 (0,1, 1)
2

F−  rPC = (-a, -2a, a)   OBS Ändrade tecken 

 
 

MP = rPA x F1 + rPC x F2 = 11 2 2 2 1 2 1
21 0 1 0 1 1
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aF aF aF= + − − =  

OBS Ändrade tecken i andra raden av determinanterna och i resultatet 
 

PMλ λ= ⋅M e   ( 1,1,1)
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1 1 1 1(5,1,3) ( 1,1,1) ( 5 1 3)
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M aF aF aFλ = ⋅ − = − + + = −   OBS Ändrat tecken 
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